N = Ol & AF & ZF A

M SALNSH
S Ol XSE AR
el ZAE2 2 E

A

_ _ _ Muo
SH-EH . C(BH) - NRAY - BES O &t 04 il b o bRz
CARED 8,742,525 7,975,653 766,872
z 1,100,000
= 306,000
A 7,336,525
DIHRI 8% SAIHE: 4,031,697 3,826,386 205,311
z 1,100,000
= 150,000
A 2,781,697
SAZT =4 18,086 228,007 £209,951
CIXtel 29 Z2ME 5,624 8,819 £3,195
201 Yer2 | 2,480 3,180 AT00
01 A2 22l 2,480 3,180 ATO0
OUXQIYH ZRME =7 300
oZeItE M 60,0008 * 541 * 13l 300
OUIRAT 2 RE BFa4g
70,0002 * 12 * 23] 1,680
OCIXtel DS AA2L 250,000 * 23] 500
202 01t 1,200 2,000 A0
01 2Uhoit] 1,200 2,000 800
OUeIYY TRME gz 1,200
301 B A3 1,944 3,639 A1,695
10 BAHAIHI &3 1,944 3,639 A1,695
OCIXtel XHESR5| & ot
81,0008 * 6% * 22 * 23] 1,944
SAZBO =N HM 12,432 17,748 75,316
201 YEr2 Y| 3,360 4,200 £840
01 A2 22l 3,360 4,200 £840
OZ AV (FRAMLYETS M) Fa4Y
70,0008 * 128 * 43l 3,360
202 01t 5,832 9,000 £3,168
01 2Lh0iH] 5,832 9,000 £3,168
OSAZR HREX
81,0002 * 28 * 32 * 123 5,832
301 e a3 3,240 4,548 A1,308
10 BAAIHI 243 3,240 4,548 A1,308
OB (FVALZTHAH) FHT Ot
81,0002 + 10 * 43l 3,240
T A F| 91,096 683,355 A597,259
cAT2NEY 2 26,896 83,355 ~61,459
201 LBt | 14, 100 21,150 AT,050
01 AR 22l 14,100 21,150 AT7,050




M SALNSH
M Ol XSE AR

SR TAIAHE FH (¢t &
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
OZAHEANLZE MESLE
3,000,000& = 290Kl * 23] 12,000
OZAIHESIAS Ba L
0,000& * 15 x 23| 2,100
202 (4 Hi 7,000 10,800 A 3,800
01 2| 7,000 10,800 A3,800
OZAIHE 2L dRFX 7,000
301 YEtB A= 1,296 1,365 AB9
10 AR HIEAZ 1,296 1,365 B9
OZAHERARJ}S EASX ]
81,000& * 43 x 43| 1,296
401 AIEHIZL 20| 4,500 55,040 A50,540
01 Al&H| 4,500 54,500 A 50,000
OZAEAL HAHY S2asz
500,000& = 3 A = 33| 4,500
TAIHEHBHAH(PIS) =4 64,200 400,000 A\ 335,800
207 S FIH | 64,200 400,000 A 335,800
01 ARSI 64,200 400,000 A335,800
OEANHEXHEHMAH(IPIS) 2 24 64,200
TASHE el 2,231,241 1,122,424 1,108,817
= 1,100,000
Al 1,131,241
ES#XAHAE 2 11,800 7,800 4,000
201 L et2Hb| 11,000 7,800 3,200
01 AFR2t2|d] 2,000 2,000 0
Oz A2s8E 7€ 2,000
02 322l 9,000 5,800 3,200
O ®MIIe3 300,000& = 12& 3,600
OEXAHAZ Mol 22 200,000& = 12& 2,400
OXHR dzH| 200,000& = 5& 1,000
OXAZ Al &EHl KX 2,000
405 XH&HFE S HI 800 0 800
01 MY Z2SFH S| 800 0 800
OXHE Netar)| 2¢ 800
Aot Al 22l 19,441 14,624 4,817
101 Q124 4| 11,241 10,264 977
04 D12t 22 NSE %+ 11,241 10,264 977
OQdSIAKIAX 22X B 11,241
ocJllEezs 36,640 * 1 x 230 8,428
oxgsY 36,640 * 1H = 47 1,723




M SALNSH
M Ol XSE AR

S9l: SAIBE e (Etel: &8
_ _ _ Muo
SA B G(E) - NEAY - B O & o4 i HREZ
o 2t AL 3,0008 * 1% * 2302 690
oIl = 200,0008 * 1% * 23] 400
201 LEr2 Y| 8,200 4,360 3,840
01 At 221 4,000 3,000 1,000
ONBMRAX BRI ASZ 2,000
ONSMRAX B2IEE 7Y 2,000
02 BB2H| 4,200 1,360 2,840
ONSIRVX MRS 100,008 * 128 1,200
ONBIMRAX AL ST 3,000
HRARE FHIAY 2,200,000 1,100,000 1,100,000
= 1,100,000
Al 1,100,000
401 AEHIL 2T 2,200,000 1,100,000 1,100,000
= 1,100,000
Al 1,100,000
01 Al& | 2,192,108 1,096,054 1,096,054
OXAREH FHIBA 2,192,108
= 1,100,000
Al 1,092, 108
03 Al & 2 CHH 7,892 3,946 3,946
OEXARES JHIBA 2Ol
2,192,108,0002 * 0.36/100 7,892
SAHEEZ Ha 1,590,404 1,762,600 A172,196
= 150,000
Al 1,440,404
SAIDIZY SIRGHAAEY 100,900 100,000 900
401 AEHIL 2T 100,900 100,000 900
01 A& 100,000 100,000 0
OZAIIZY SIRHAASY 100,000
03 Al & 2 CHH 900 0 900
OZAINZY QIATHAAY SOHH]
100,000,000% * 0.90/100 900
B2~ Z02 S2MLIA 201,440 100,900 100,540
401 AlSH L2 THY| 201,440 100,900 100,540
01 Al&l 200,000 100,000 100,000
OS2~ XZD2 T2HE A 200,000
03 Al & = CHH| 1,440 900 540
O#H2~BXED T2HEB ALY
200,000,000%1 * 0.72/100 1,440
NEX2~AFHLGEA2 S2HE S A 251,800 100,900 150,900
401 AlSHI L2 THY| 251,800 100,900 150,900




EA: TAINEN
S DIHX &S AN
Sl SAHEZZ -

S . M. (5 HEAS . A2 A} OH HEE =}
T—|'0—|.|_T|(Elj:”). '“—l— I-I:J'Lo_i =5 0:”/&,% ==
01 Al &l 250,000 100,000 150,000
ONMEXNZ~FSNMIMEL TZ2IHE S A 250,000
03 AI& 201l 1,800 900 900
ONEXNZ~FHIMGEA2E E2IHE SAHR U
250,000,000& * 0.72/100 1,800
AN Z~KT&GZH T2 IHE S AL 302,160 201,440 100,720
401 AlEHIZ 2 OHYI 302,160 201,440 100,720
01 A& HI 300,000 200,000 100,000
OIHE=~KT&GZH T2 B At 300,000
03 AIE R 0HHI 2,160 1,440 720
OSA™M=Z~KT&GZH T2 A S AL S HEI
300,000,000& = 0.72/100 2,160
SAHEEZ ASAFTHISA 100,900 0 100,900
401 A& HIZ 20HYI 100,900 0 100,900
01 A& HI 100,000 0 100,000
OZANAHEEZASAFHISA 100,000
03 AI& 2 0HHI 900 0 900
OZANAHEEZ2ASATHIS A 20
100,000,000& * 0.9/100 900
HYS~HUFFA2t S2IHESA 300,000 0 300,000
= 150,000
Al 150,000
401 A& Bl 2 CHYI 300,000 0 300,000
= 150,000
Al 150,000
01 Al &l 297,855 0 297,855
OlZL=EHELFRrA2t TZ2IHE B A 297,855
& 150,000
Al 147,855
03 AI& 2 0HHI 2,145 0 2,145
OHYE~-HLYFRL2t T2IESA 20U
297,855,000& * 0.72/100 2,145
ZEANIR &S A S 40,432 100,900 60,468
401 AIEHIZ 20HYI 40,432 100,900 60,468
01 Al &l 40,000 100,000 A60,000
OFHAIX HEZA 40,000
03 AI& 201l 432 900 A 468
OZHEAIIX =3 A AIE R
40,000,000 *1.08/100 432
S22 100,900 0 100,900
401 AlEHIZ 2 OHYI 100,900 0 100,900




D EALNSH
H: DIHXIEE AR
P TAIHECZZ L

B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
01 Al &l 100,000 0 100,000
OESZZYTUETZHEZA 100,000
03 A& = 01| 900 0 900
OHSHILNUYETZHETA 204
100,000,000& * 0.9/100 900
SO E~ATIIE A2 TS A} 50,540 0 50,540
401 AlEHIZ 2 OHYI 50,540 0 50,540
01 A& HI 50,000 0 50,000
OSHOILE~ATIIE A2 LES A} 50,000
03 A& 201 540 0 540
OS2I E~ATIIEAZN TEIAL 2O0Y|
50,000,000& = 1.08/100 540
StFXE OS2 ZE DAL 100,900 0 100,900
401 AIEBIZ 20HYI 100,900 0 100,900
01 A& HI 100,000 0 100,000
Ost==XtE OS50t ZT I At 100,000
03 AI& 2 0HHI 900 0 900
Oet=F=XE 0t=2td ZE I AL 20|
100,000,000& * 0.90/100 900
SHEMEEOIS L ZE S At 40,432 0 40,432
401 A& HIZ 20 40,432 0 40,432
01 Al & Hl 40,000 0 40,000
OFENMEHISHZIEES 40,000
03 AI& 201 432 0 432
OStEMEtZOIS L I Z I AL 2|
40,000,000& = 1.08/100 432
238 JIBAIE &= 100,900 25,000 75,900
FUASLZFHISA 100,900 0 100,900
401 Al HIZ 2 0HYI 100,900 0 100,900
01 Al &l 100,000 0 100,000
ORLASAZHHI S A 100,000
03 A& =01 900 0 900
OFLAMSHUZEHISA 2LHHI
100,000,000& * 0.9/100 900
suE 54 A& 4,410,828 3,985,830 424,998
& 156,000
4,254,828
SuE A= 22 55,670 64,234 A8,564
snsSAld WX 55,670 64,234 A 8,564
201 LBr2gH| 5,000 5,000 0




P EARSH
X ZH ; EHEDLE O/\'{ Ilo_l
o H=EDE A2 e

- _ dEE =
FA R CA(EA) - NFAY - BYES &h el Ofl At ot HlusZ
01 Ar2teltl 5,000 5,000 0
OHA - BAISTE SEE(ASAN)EX
500,000 = 104 5,000
202 04l 2,200 5,834 A3,634
01 2 LHOHI 2,200 5,834 A3,634
Ousdyd g=2=a 1,100
Ollsusdts & 22 832 1,100
206 M = H 23,270 5,000 18,270
01 =4l 23,270 5,000 18,270
OHA SAsSZE 2Z38 M+ 23,270
o5dd U FRS(2ANE 22 S)
10,0003 » 1474 1,470
ocRMAsSZE AN £X1. U
500,000& = 104 5,000
CRNASTE(XF4) =4
50,0003 » 1964 9,800
oAl Bl & Ui Fdl M= 7,000
401 Al HIY R 25,200 38,400 213,200
01 Al€HI 25,200 38,400 213,200
OkL% =28 84 & uA
12,600,000& * 24 25,200
Hsws MEXS 3,662,000 3,415,000 247,000
= 156,000
Al 3,506,000
GAZSAE HEAE 800,000 753,000 47,000
< 150,000
Al 650,000
207 A =oH ey 50,000 20,000 30,000
01 22EAHI 50,000 20,000 30,000
OlizusII2H8 € nsSAN0ISHASA]
= = 50,000
402 212201 A 750,000 733,000 17,000
ES 150,000
Al 600,000
01 edEEx 750,000 733,000 17,000
OAUHA 2SAME MHEXE 650,000
LS 150,000
Al 500,000
OAIUHA WSIHE AISER &2 80,000
OAUHA WSotE estsgol =42y 20,000
gld =424 12,000 12,000 0
LS 6,000
Al 6,000




M SALNSH
¥ (Hsus =4 N

ool HZEDE WEXE (eel: &
_ _ _ N E
SA - SR(E) - HRAY - BES Abou Sl aton =
402 BIRIRH2 0| & 12,000 12,000 0
= 6,000
Al 6,000
IEINEIZES 12,000 12,000 0
OB EaEa 12,000
= 6,000
Al 6,000
S4oM RIBEZ N3 2,650,000 2,650,000 0
307 BI2+0| & 2,650,000 2,650,000 0
09 S+LHEES 2,650,000 2,650,000 0
OUUXIAA 28 SFH 2X 2,650,000
ot 2 (108CH) 2,220,000
o &4 A| (3320H) 150,000
o3t 2 (1670H) 280,000
AN 2% A 200,000 0 200,000
301 LprEaa 200,000 0 200,000
EPICERE] 200,000 0 200,000
OBAIZRR 243 200,000
HEe C2DE BHIEY 693, 158 506,596 186,562
EERRE S 380,000 370,000 10,000
401 Al HI L LR 380,000 370,000 10,000
01 A&t 380,000 370,000 10,000
OXH A B A} 380,000
DECHALE 25 - 22 290,392 104,660 185,732
201 LBre | 25,692 24,360 1,332
02 2zl 25,692 24,360 1,332
ORSAE ®II23 25,692
S ESNEP] 63,0002 * 227| * 12 6,632
SELE 21,0008 * 267| * 122 6,562
oHBES 11,0008 * 197] * 122 2,508
401 Al HI L2 OHY] 264,700 80,300 184,400
01 Al &t 264,700 80,300 184,400
ORSOHEEX & 32,500
oo EX B 250,000 12,500
o FRIEXIB 200,000 5,000
o XIAIEXI B 200,000 10,000
CEBXEXE 200,0002 5,000
OWSASI ME(YSOIE &)
170,000,008 * 1JH 4 170,000




M SALNSH
¥ (Hsus =4 N

Ce: WES TS SE3xH (&2 &
S . M. GOl (5 R e =) A} OH &EIE =03
OANUZIEEZ NS JH(LLSH 5)
30,000,000& * 14 30,000
OnsdlzIl R 1,000,000& * 220 A~ 22,000
OL=ASI| tHE XS A
1,000,000 * 52 5,000
OZLES RANE=> 100,000& * 26004 * 23] 5,200
TZWsS o™ N&E 22,766 31,936 29,170
201 L2 H| 15,746 14,340 1,406
01 At 2teltl 2,526 4,720 A2,194
OBXAE JISEXN ME 200& * 3,0000H 600
OxAMNXEZE ME 200& * 2,00000 * 25 800
ORHI| BAs===Z 63,000& * 2CH 126
OQuEetdzz 10,000& * 100MI E 1,000
02 E2=2ZH| 13,220 9,620 3,600
ONsiEE= 300,000& = 2CH 600
ot Rreg3 50,000& = 2CH * 23] 200
ORI XS B2A X 22
35,000& = 128 420
OXt | 500,000 = 2CH = 12& 12,000
202 44| 4,620 15,196 210,576
01 2 LHOAHI 4,620 15,196 A 10,576
OQuEetdAdEs 23 Azsd
81,000& * 29 » 2& * 53] 1,620
OSEAMNEZE AR & AIHSEX 3,000
307 212t01 A 2,400 2,400 0
05 DIZHRE S 2,400 2,400 0
ORI XE 2T 08 S22
600,000& * 4= 2,400
HE2HGH(ZAIRS 67,500 57,995 9,505
ol 29| 32,472 29,615 2,857
lHE2HEH (S Al WS ) 32,472 29,615 2,857
101 2124 d| 32,472 29,615 2,857
03 RIHAUIZAE =+ 32,472 29,615 2,857
Osdae 224 B 32,472
oJlEgz 36,6403 * 1¥ = 365 13,374
SRS 13,374,000& * 4/12 4,458
cHXRZSFI=Y 36,6403 » 1H * 20 733
oAzt 2R
6,000& » 19 * 75A12F = 128 5,400
oxgdag
54,960& » 1 = 8  12& 5,277
S = 13,374,000& = 10/100 1,338
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M CADSH
HH: HHSAAH (SADSD)
ol eyl el dd
EHA - HE (G H) - NEAY - HAE2 A} OH &EIE =2}
- o= T ° T EEREES = 04”:"% =<
S SV 31,180,0008 * 3.5/100 1,092
oW S| 300,0008 * 1% * 23] 600
oIl =4 200,0008 * 1% 200
=24 35,028 28,380 6,648
JI2ZH(SARSED) 35,028 28,380 6,648
201 LEt2 Y| 29,148 22,980 6,168
01 A2 22l 26,748 20,580 6,168
ORAEY Jl=Z 250,0008 * 12 3,000
OMPEE Y(SAXS) 200,008 * 122 2,400
OBIHARII| A2E 7 7,200
o ZAICIXtE! 300,0002 * 40§ * 23] 2,400
oA 300,0008 * 204 * 23 1,200
o ZAIpE 300,0008 * 404 * 23] 2,400
CNEHUEH 300,0008 * 104 * 23 600
CcUEXNE 300,0002 * 10§ * 23] 600
owesrdl Uxz 50,0002 * 3CH * 12 1,800
o3z 7,0008 * 218 * 72 x 122 12,348
02 B2 2,400 2,400 0
LERB 200,0008 * 12 2,400
202 04 1,680 2,400 AT20
01 2ot 1,680 2,400 AT20
OHIAZ22 2ol 1,680
203 Y R[] 4,200 3,000 1,200
04 RANSHYSFAY| 4,200 3,000 1,200
ORANSYLLEY| 350,0008 * 12 4,200
HE(CARSEY) 232,500 105,442 127,058
T NS 232,500 105,442 127,058
NEDE PN 232,500 105,442 127,058
701 JIEIBIHAE2 232,500 105,442 127,058
01 JIEtBI NN ES 232,500 105,442 127,058
OUX2aSEsH HE2 150,000
OFXHSH N BE2
825,000,0008! * 10/100 82,500




